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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Probability sampling is otherwise called :

T 9iaeel &l AT ol 2

Options:
Multiple choice

% qgfdhcdly =g

Uni-variate _.i"uml}'s.iz

THI-af¥ue fageram
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

A Research Report is a formal statementof .............___.

TH I RO ., T Teh UG (G0N0 B |
Options:

Rezearch Process

| AT Uiha

Research Problem

5 # STAE A

Data collection

3. % :H.I-"]"El '\_:l.__.]. EI:I



Data Editing

4 W \_.E L' '\_;ié-é.:"
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Which of the following is not covered under Intellectual Property Rights ?

fa=fafiaa § 9 & difge duer AfTent & Iiaid Jafamar g ?
Options:
Copvrights

;. & PIURIEC

Patents

> % dcc

Trademarks

r

o W 5:1‘5 [

Thesaurus

. forefey
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

A bar chart or graph which shows the frequency of occurrence of each value of
the variable which is being analysed is termed as :

T TIT‘r AT UTH Wl IN o Ul HIF hi U & Dl Erll"ﬂl"‘l G CEEI] Er SEED
a9yl fohd _"IT?TE'TE’ Pl HEl I ?T.
Options:

Bar chart

| % W9 AT & w9 H

Histogram
5 Hifeirias & wU H

Candle stick
3 % Do Ne® & w0 4



Tabulation
4% R & w9 H
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

The depth of research can be judged by :
Tl W1 TExTs H1 SEToll SHY ST ofl Gehal @

Options:
Title of the research work

% UE B B NS

Objective of research

o o T @ T

Total expenditure of research
- x I BT B T

Duration of research

4 % T @I 3@ty
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The mean of a set scores is 50 and standard dewviation is 10. If the score of each

student is doubled the new median will be -

=T AHI B AeF 50 8 AT AFF FEed 10 £ 1 AT USE B B APl B Gl
& {591 oirg, 93 AT

Options:
Remain unchanged

| RS v

Increase by double
2. '\‘?’? E: g—l_l—ér E"\-ljﬁ

Decrease by half
5 % T HH BFA



Become equal to the mean

4 % T F AER EE
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following is net a type ot research question ?
=1 § 9§ B U U2 &1 UBN T8l 7

Options:
Predicting an outcome

% ORUTH @1 Afasgari

Evaluating a phenomenon

o % Tl B Hegldh

Developing good practice

5 % IS URAT BT IG1I

A hvpothesis
4 TP TRHTA
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

All of the following are types of non-probability sampling techniques except :
e # 9 9 IN-uifiredr ufaeel daqle @ JaN & g9

Options:
Purp os1ve samp ling

| w AT AfaSE ®

Snowball sampling

o % VATl gfee @

Convenience Eampli:ng

5 % giaar ufoee &



Random Eamp]_mg

4. diglzgdy Mldg=l @
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
To test null hypothesis, a researcher does nof use :
T YRNEHT & WAV HRA 8g SJEaHdHal 7 § 9 fhesr 9ar 98 s 8 ?
Options:
Chi-square test

s DTS-I TRIETTT

1.

t-test
o % CIOVIE

ANOVA
3 % T

Factorial analysis

4 AT fagero]
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

P-alue stands for -

Tlo Ho& &1 AU 2

Options:
Probability value

1.Jmﬁﬂww

Preference value

E_Qaﬂ?ﬁﬂﬂw

Pre-determined value

_ Ja-T-i¥aa 7Jed



Prescribed value

L% BENECE &
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

In the process of conducting research "Formulation of Hypothesis” is followed
by :
FTHET B DI UlhAT H “URSBTAT & AP & g a1 HIar B :

Options:
Statement of Objectives

| w 9aazdl T faaee
Analysis of Data
o w dids BT fwer

Selection of Research Tools

o o ATHET AEET BT T8

Collection of Data

, & SNPS T HIE

Question Number : 12 Question Id : 7622113312 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Longitudinal studies of cohort groups .........._. ]
S TRl BT AFas AT €

Options:
Study the same people over time

| % BY FHI W Uh B AN BT T

Use panel members as particip ants

o x AFER & W0 § U Haei &1 STar

Study attitudes at a single point in time

3 % TP I W GCHIT B Fena




Use different participants for each sequenced measurement

L  TI® STHHAT AT 7 A= AFERT B ST
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Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

A deductive theory is one that :

! - [ i

e g ©

Options:
Allows theory to emerge out of the data
| % Sl RIgid & Siids A o~ 8 o @

Involves testing an explicitly defined hypothesis

o o TSTH RO AT GRAITT IRGCIT BT TR Wi 8

Allows for findings to feed back into the stock of knowledge
5 % [OTIPT SETY g §M & H9g H ufayfic &g ey g

Uses qualitative methods whenever possible
4 % Ol ofd 01 9T B [UIAS TGd BT HANT Bl ©
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Meta data is the data that :
ATl ST 98 SIeT & ol

Options:
Distribute other data

% o4 SICT &l dicdl 8

1

Collect other data
5 % I STCT BT THT BT

Describes the other data
5 « SICT &I Fadr &

Destroy the data
4 % SICI @ & Sl 8
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

FEandomization iz done to :
i Sh
ATGEFHIHIVT Bl ATl 2

Options:
Increase bias

| % IFART B1 9@ & ferg

Reduce bias

o  SAAT @ HH B T ferg

For making hypothesis

3 % UREAT TR & oy

To increase drug efficacy

4 % S e B S & fov
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Data is represented in form of notes, recordings and video tapes in :

ATpel I Alc, ¥PHIeT Ud difedicd & w9 § fAwud f&ear o g

Options:
Qualitative Research

| o TS IFTHE H

Quantitative Research

o s WRATIIES JTHE H

Experimental Research

5 % TARTICHG e H

Descriptive Resea rch

4 % dUHTCH® SFTHET H
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question



Grounded theory is often used in formulation of :
qTSSS LRI & G4 gfaured H agen fhan wrdn 2
Options:

Policies and Programme evaluation research

| o N Ud BRISH Jedih STJHaH &

Opportunity for exploring the facts

o % T BT UAT T TG JTH S

Categorizing data

o R

Understanding the culture

4_%% P GHSH B
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Read the statement A and B and choose the correct option :

BT $ Td G BT Iy 7241 el fabeq gy

Statement A : Variables can be manipulated, controlled or observed by the
experimenter.

FYT F : TN DI TAFTHGT 59T B H amEn, FEEa o sadifead fRar 9 9dar 2 |

Statement B : Variables are not related to theoretical concepts.
HYT | : W AGIAd Faurons | Hafed Tl €|
Options:

Both the statements are true

, % T I TG €

Statement A is true but B is false
o  PIT B T ¢ fbeg P & 9T 2

Both the statements are false

o % G DU IEA T

Statement A is false but B is true

4 % DIT B GG ¢ fbg HUH G A 2
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is not a category of legal research ?
Tfaad # HE-A1 AfdE o 3 G0 # A% A 57

Options:
a parasitic discipline of law
| o TEEE T @ ET A

a practical discipline of law
o % AN 9 T =T H

an aspect of the humanities
¢ HFEEH] & U U b =9 H

=

an aspect of social sciences
4% HHIE 95 & 95 & =9 H

Question Number : 20 Question Id : 7622113320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Rejection of null hypothesis when it is true is called :
9 B8 ®i [Refa ¥ 990 dN&Gog=T &l 3 -:_F»r’;d T FHEAal & 7

Options:
Type Il error

, % c8u IMFfe

Type Ierror
o o C -qE - Ia—ﬁr

Sampling error

.y TR 3

Standard error

4 % AF® e
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question



In a research study one of the variables selected was (students’) parents’
occupation such as business, farming, service etc. What level of measurement is
this ?

"HTHI HEIE H FAMG U 9 J1a1-0dT $1 dErd oY IR, Wdl, 9al gy |

Options:
Nominal

T

T

"

Ordinal
2. W a ] H Qﬂ- a ':-] ]

Interval

H-aO¥l ¢
o R

Ratio
4 % I3
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

What is standard error ?
Options:

Standard deviation of the sampling distribution of a statistic
. A=y & giaeyl g & J1d a9

Modal error value of the standard range of a statistic
5 % WIRGHT & JH® 4ol & HJisd Jic A

Error in the calculation of standard deviation of a statistic
o x QO™ @ A e @ T H Ffe

Standardized statistic to minimize error

4 % 3C PP I & [0 ADIFT HiDEI



Question Number : 23 Question Id : 7622113323 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is helptul in determining sample size ?
UfASel TR & MR & § 94 ¥ 9 &4 9896 & 7

Options:
Ruszell 2000 index
| w <H 2000 FABID
Cochran's formula
HIhv &I -9
o o

Tussad's formula

o x Qg @

Spearman's formula
4 % TIHT w1
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Which of the following is not true about the case study method ?
‘FTH AFEE A AR H Ffanad # " #9998 57
Options:

It is an expensive method of research

There are many chances of making errors

fe 8M & 9gd d49/EA1 =2l B

=]
-

[t is mainly qualitative in nature
% 5 FEATAT OHE BT B

It is quantitative in nature

4Ju:mm—qtrnrumml 5
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question



Read statement A and B and Choose the correct option :

BT & Ud @ BT UgU TUT Wel fadded &1 FA1d PIfeIT :

Statement A : The Latin square design has an advantage over randomized block
design because it is possible to control the effects of two secondary variables.

YT & : olfcd EEER fSuE agfes o fsusd 9 s ameEds & @il
Tg g1 T =R F UHE BT EEd $ H W 2

Statement B : A 2 x 2 x 2 factorial design has six independent variables.
YT G : U 2x 2 x 2 HHMG feus- 4 B8 Wad =@ 8 2 |

Options:
Both A and B are true

lgmqﬁaaﬁrw%

A is true and B is false
5 @ P AT T A W FEA T

Both A and B are false
5 % & Ud & Al o ©

A is false but B is true
4 % P I € AP @ WA @
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple CThoice Cuestion
A researcher is invstigating teacher's attitude towards year-round schooling. She

is particularly interested in describing the attitude of teachers from small,
medium, and large schools. Which sampling procedure should be used by her to
ensure her sample is representative of these types of schools ?
U AJHUMEHT g4 WY el @& Ul HeATUS & AAgRT Bl AU HR I8 2| 98
B, T dAT g5 Wholl H el © AAgRy & < § 99w &y ¥ foo=al o
el gfcifeeg & HJd ?
Options:

Cluster

1 % qE

Quota
2 % ®IC



Systematic

3 % \‘\_.- Ol ¢

Stratified
4 v WG
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following tvpe of research focuses on amending the prevailing
situations ?

=1 9 9 {59 IR &1 FgHu A RIfadr o1 Gune iR Saiad e g 7
Options:

Action research
| o SPATAE STFxEr

Experimental research
o % WATTICHE e

Fundamental research

= ® ﬂ: 1:" EHTTETH

Conclusive research

, x (ORI ST
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

If there are eight categories or classes in a goodness of fit test, what will be the
degree of freedom ?

i [e9 A e <% d e &l O & €, a1 W=y ®ifc @1 B8R 2

Options:

1.*8

7

e



Cannot tell on the basis of the information given
4 % &8 T FHGR & AER O 94197 e S qehal g
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question
Qualitative research helps in collecting data under more ..........._. situations.

qUITCHS STJHE b fRerferal 3 Siferel Uiz R H Weradl &Yl ¢ |

Options:
Normal

1. % Lo

Natural

5 -\‘;,’? ﬂ E]:S E‘_ 'E:I:S

Experimental
5 % HANTTA®

Artificial
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Read statement A and B and choose the correct option :

YT B Ud @ F IigU TAUT Wl faded vy

Statement A : A case study can be used only in clinical psychology.
YT B : 71 AT (BH ITSI) BT WA hael faer-iad AT H fHar &1 |l
=4

Statement B : The approach of case study is based on the artificial atmosphere.
YT G : g1 AT (W ¥CSl) B glehv HiEH JRe IR A= 2 |
Options:
Both A and B are true
, % U @ EH U

Statement A is true and but B is false

o % DY P U B b O HEA &




Both A and B are false

Statement A is false but B is true
4 % BT P A ¢ olfh] & §F ©
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Which tvpe of research focus on what will be ?

fehe UehTY 1 STTHI &1 BT R BIdd Hecl 8 7

Options:
Experimental

1, o TS

Case study

, % 99 A (P ITH)

Survey

5 % Hae

Ex-post facto
4 % q9 T
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Which of the following should be up to date, complete and affordable for proper

sampling ?

=1 3 9§ ®F Sfag dfaey 2q sterdd, QUi 91 §9a 2 =@1iey ?
Options:
Sampling technique

| x TRE" TE

Sample frame

2_‘&? HE'H\ ;*T‘El-



Reszpondents

5 x AR @ A

Tools for data collection

4%31‘#@@3?@@%
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

What is a research design ?
ATHI e F 7

Options:
A way of conducting research that is not grounded in theory

1%a§ﬂmﬂﬁﬂﬂﬁ‘ﬂ1ﬁﬁ@ﬁﬁmﬁﬁﬂﬁg

The choice between using qualitative or quantitative methods

o % TS T4 ORHETUTCHS Tgiadl &1 TR $HY- & 9" faded

The style in which you present your research findings, e. g. a graph

5 % Joit fSTEH 31T SIT e e sieid T BT Igd BYd ©

A framework for every stage of the collection and analysis of data

4 o ATBST & AT T HIE & FAD YA TG Il
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

It a study is "reliable”, this means that :
Ofe gy fdgaa-my é’ s Hod g b

Options:
It was conducted by a reputed researcher who can be trusted

IE Hidfted SHeGal g &1 Widl 2 o WX faward fear o ¥aar €

1 &

The measures devised for concepts are stable on ditferent occasions

, o SRS o Bferd Surr fafi= sraest w Rer 2@ @



The findings can be generalized to other social settings
o [TSRY DI 3 WAME TR & fu aeriigd fBar o wear 2

=3
The methods are stated clearlv enough tor the research to be replicated
A% I B ufadfa {6 o 2q usfaal o1 W w | udid qardr 147 2
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Ethical norms in research does nof involve guidelines for which of the following ?
ST J Aifquwes JE J e H fege fou feen-fae wide 98 @ ?

Options:

Thesis Format

L  JE HaE U

Copvright
o % PHNIEC

Patenting policy

5 % NoC

Data sharing policy

4 % \_,E [_,l \]\*-l-q“] ;” k
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uestion Label - Multiple Choice Cuestion

_________________ is not a source of Hypothesis.

_____________________ NI &1 Udh Hid 7&f 2 |
Options:
Intuition
. % Heul H[E
Knowledge

2IWEI'I_"T



Energy
3 '\‘:5? '-.?_. ATl

Theorvy

|

4 % 194
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which of the following variables cannot be expressed in quantitative terms ?
Frefeiad 4 | (59 =R @1 AEHS sl 4 ad el fhdl ol dadl 8 7

Options:
Socio-economic status

| % HITSTS I Rerfd

Marital status

, x AT Refa

Numerical aptitude

2 arE el iR i

Professional aptitude

L % TIER AR
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Which of the following is not a citation style ?
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Which of the following is not a defining characteristics of non-doctrinal research ?
frfefaa & & = fe-Haifas ol @ afveias @ 981 & 7
Options:

It is organized around legal principles and appellate court decisions.

= S
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It puts lesser emphasis upon doctrines.
, x T8 MmOl 9T HH 9o Gl B |

It seeks to answer broader and numerous questions.
, » 97 378 UFG S UL & ITY WA BB HIAT F |

It may involve the use of research tcn:r]s. and perspectives not pecu]mr to law.
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is not true about positivism ?

frefafaa § 9 & vemefare (@fsfefes) & ddg § a2 78 2 ?

Options:

It is associated with Auguste Comte

| % TE I B B AT JST &

It denies metaphysical speculation
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It emphasises on objectivity
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It iz a method used in qualitative rezearch
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Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

When a liquid is in equilibrium with its vapour, the thermodynamic criterion for
equilibrium is :
Options:

; % Entropy of the liquid phase is greater than entropy in the vapour phase.

> % Enthalpyv of the liquid phase is less than enthalpy in the vapour phase.

Chemical potential in liquid phase is equal to the chemical potential in
= « Vapour phase.

4 % Gibbs tree energy for the two phases is different.
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question



Solution A is prepared by dissolving 1.80 g of glucose in 100 mL of water and
solution B is prepared by dissolving 1.2 g of acetic acid in 200 mL of water.
Which one of the following is correct ?

Options:

1 % The osmotic pressure of A 7a > osmotic pressure of B 7

o o TTa = TB
2 % Ta < Tg
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

The chemical reaction
Zn(s) + 2HCI(1M) —» ZnCly(1M) + Ha(1atm)
AH? = =153 k] mol ™, AS" =-17.3 T K™ mol™

can be carried out reversibly in a wvoltaic cell. It the standard enthalpy and
entropy changes for the reaction at 298 K are those given above, the maximum
electrical work available from the reaction at this temperature per mole of H»
produced is approximately equal to :

Options:

1. % 5Kl

= « 148 kI
3. % 153 kI

4 % 158 kI
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

The quantum number which is not derived from the solution of Schrodinger

wave equation for hydrogen atom is :
Options:



1 % Principal quantum number
> % Azimuthal quantum number
z % Magnetic quantum number

4 « Spin quantum number
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

The number of Faradays of electricitv required to convert one mole of
permanganate ion to 1 mole of manganate ion is :

Options:

1. ¢ 1
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The ratio ortho : para hydrogen :
Options:

= decreases with increase of temperature
5  Increases with increase of temperature

= % 18 independent of temperature

4 % 18 highest at 100°C and then decreases
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

An equilibrium mixture tor the reaction

2A5B(g) == 2A,(g) +B,(g)

had 0.5, 0.1 and 0.4 moles of A B, A, and B, in a two litre vessel respectively. The
equilibrium constant (K) is :
Options:

; % 0.004molL™

> « 0.008 mol L™
= % 0.016 mol L2

4 % 0.032mol L7}
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Q_LlEStiDH Label] : Multiple Zhoice QU.EStiDﬂ

Equal weights of HF, HCl, HBr and HI at 87°C and 750 mum pressure are taken.
The correct sequence of these gases in the increasing order of their volume is :
Options:

1 % HF <« HCl <« HBr < HI
> % HBr <« HI <« HF <« HC1
3. % HCl < HBr <« HI « HF

4+ HI « HBr <« HCl <« HF
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uestion Label - Multiple Choice Cuestion



The Vander Wall's equation is given by :

SR
i

—5 0 (v—nb)=nRT

l
o

‘ P+
;

i ) . i .
— | has the dimensions of :
)

F

The ratio|
Options:

. -1
1 % litmol

e |
> % atmlit
- % atm lit mol ~

4 v litatm mol™
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which one ot the following is not a property of gels ?
Options:

1 « Hysteresis
5 % Imbibition
5 % Syneresis

4 % Solubilization
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Consider the tollowing gas concentration cell,

Pt, H2 (10 atm) | HC1 | Ha (1 atm), Pt

The EMEF of the above cell is :
Options:



1. % 02304V
> % 0.1182V
3. % 00391V

4 « 0.0295V
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

A reaction proceeds by a two step mechanism :

Ky
B, %

(a) A, ~—  2A (fast reaction)
|'k_1

by A+B B products (slow reaction)

The correct rate law tor the overall reaction is : (k = new rate constant)
Options:

;. % rate =k [As] [B]
> % rate=k[As] /2
z % rate =k [A2]? [B]

4 « rate=k[A>] V2 [B]
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Which one of the following has the hichest value ?
Options:
1 # rotational partition function

> % vibrational partition function

= « translational partition function



4 % electronic partition function
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Cesticon Label ;- Multiple Choice Question

For an adiabatic process, the correct relation between temperature and pressure

1S :
Options:
p 71
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v I \ B
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Couesticon Label ;- Multiple Choice Question

31 I L] ] ] t
TI."LE‘ P nunr spectrum of IJ]."LGSD]."LGIL'LLIIH 1on consists of :
Options:

. % atriplet
> % an equally intense quintet
z % al:3:3:1quartet

4 wali4:6:4:1quintet
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

A volume of 25 mL of 0.1 M C.H.COOH (aq.) is titrated with 0.1 M NaOH (aq.).

What is the pH atter the addition of 12.5 mL of NaOH (Ka = 6.3 x 107)
Options:

1 ¢ 4.2
> % 6.3
z % (0.1

4 % None of the three
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Which of the following couples are butter systems ?
Options:

1.+ KFE/HF
- % KbBr/HBr
z % NaxCO;/NaHCO;

4 % Nomne of the three
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uestion Label - Multiple Choice Cuestion

In exclusion chromatography, solute molecules are separated based on :
|l_: T o

Options:

1 « Molecular geometry and size

> % Molecular composition

= % Molecular phase

4 % Molecular formula
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Which of the foﬂowirng is the ::01111110111}.-' used support material for the packed
column in gas chromatography ?

Options:

1 % Glass
- % Metal
z « Diatomaceous Earth

4 % Stainless steel
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Which of the fo].low:i:ng assumes constant modal vaporization and overtlow in

distillation ?
Options:

1 « Mc Cabe Thiele Method
> % Ponchan Savarit Method

= % Entholpy Concentration Method

4 % Plate Absorption Method
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uestion Label - Multiple Choice Cuestion

The limiting current in a linear sweep Voltammogram is related to :
Options:

1 # The standard reduction potential for the redox couple under investication.



> % The reduction potential of the reference electrode.

5 % The 1::01'_11’[ at which concentration polariz.ﬂtic-n begiﬂs.

4 + The concentration of analvte of interest.
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Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Which of the following statements is accurate :
Options:

Capillary column GC generally has higher efficiencies than HPLC because of
. % lower plate height in GC.

HPLC has higher efficiencies than f:apillary column GC because column
> % length is longer.

Gradient elution is an important approach in capi]lnry GC to deal with
= % general elution problem.

5 apillar}r column GC generall},-' has lligher efticiencies than HPLC because of
4 « amuch ereater columm leneth in GC.
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

A weak organic acid has Ka value of 6.2 x 10° M The distribution coefficient,
K, for this acid between organic solvent and water is 5.2. An increase in pH of
the aqueous solution would be expected to :

Options:

1 % decrease the fraction of acid in aqueous phase.
> # have no effect on Kp or D.

= « increase the fraction of acid in the aqueous phase.

4 % have no effect on the acid concentration in either phase.
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

A polarizable electrode is that :
Options:

1« Whose potential is dependent on the current tlowing.

> % An electroactive substance which can be reduced at a certain potential.
= % An electrode which has a large area.

4 % Electrodes composed of noble & base metals.
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

In amperometric titrations we measure :
Options:

1 % Mieration current
> « Diffusion current
= % Limitine current

4 % Residual current
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QU.EStiOI'l Label : Multiple _hoice QU.EStiOﬂ

Free radical substances showing paramagnetism due to magnetic moment of
unpaired electron. Which Spectroscopy is applied for its determination ?

Options:

2 « ESR



4 % ICPE
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

The source of radiation used in I.R. Spectroscopy :
Options:

i« Nermst Glower
> % Sodium Lamp

= # Deuterium Lamp

4 » Tungsten Lamp
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Correct Marks: 3 Wrong Marks: 1

Cuestion Label @ Multiple Choice Question

Octadecyl silane (C-18) column is used in which chromatography ?
Options:

;% lon-pair
- % Size exclusion
= « Bonded phase

4 % lon-exchange
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Change in output of sensor with change in input is :
Options:

; % Threshold



5> # Slew rate
= « Sensitivity

4 % Bias
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Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

The potential at the point on the polarogralljhic wave where the current is equal
to one half of the diffusion current is termed as :
Options:

1. % Half wave current
> % Full wave current

= « Half wave potential

4 % Full wave potential
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

The complex ion in Zeise's salt is :
Options:
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion



Select the correct statement from belows :
Options:

|« Very strong spin-orbit coupling in both lanthanides and acinitdes.
5 % Very strong spin-orbit coupling in case of actinides only.

In case of lanthanides orbital contribution is zero but for actinides it is
= # significant.

In case of actinides orbital contribution is zero but for lanthanides it is
4 % sienificant.
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

The correct expression for Lande's Splitting factor is ;

Options:

o1 JU+D+SS -1 - L(L+1)
% 27(J+1)

o1+ JUTD+SE+D- LI +1)
> " 21(T+1)

sl T+ +5(5+1)—-L(L+1)
3 % I(J+1)

o1 JUFD—-SE-D+LAL+1)
4 % ° 2HTE1
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Borazine and benzene have a number of similarities. Find the mcorrect statement

amone the followine :
Options:

, « Both react with Br, forming tribromo derivatives



. w» Doth react with Br, forming tribromo derivatives

s % Doth are planar molecules.

4 % Both have identical bond distances (C-C or B-N).
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

The complexes K;3[NiFs] and K3[CoFq] are :
Options:

1 % Both paramagnetic
> % Both diamagnetic
- % Paramagnetic and diamagnetic respectively

4 v Diamagnetic and paramagnetic respectively
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Transition metal alkyls are uncommeon because :
Options:

, & o M-C bonds are not formed

> % M-C bond enthalpies are usuallv positive

= « Facile P-hydrogen transfer from alkyls

4 % High polarity of M-C bonds
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question



Thallium 1s toxic because of the fact that its ionic size and stable oxidation state
are very close to that of :
Options:

1 ® Nﬁ+

4 % Hg™
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Cuestion Label - Multiple Choice Cuestion

The reaction

AN =
Cp 221-(\ S C P;ng
4

1s an example of :
Options:

1. % Oxidative addition

. % Insertion

= #% Alkvne migration

4+ Oxidative coupling
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

In which of the following is larecest bond ancle observed ?
Options:

1. % NH,

=z % SCl,



4 NHi
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Cuestion Label : Multiple Choice Question

The basic structural unit of silicates is :
Options:

1. ® Efl:}g_
5 % SiO3
3 « SiOF

- ﬂ—
4 % 5105
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uestion Label - Multiple Choice Cuestion

The molecule CIF, has :
Options:

1 % Only a three-fold axis of symmetry

> % Only a two-fold axis of symmetry
= « A two-fold axis and a plane of symmetry

4 % A three-fold axis of symmetryv and a plane of symmetry
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Couestion Label | Multiple Choice Cuestion

The spectrum of Ph,As shows absorption peaks at 270 and 230 nm. The peak at
270 does not show any significant solvent dependence but the peak at 230 is

solvent dependent. The peaks are due to:
Options:



m-* transition of the phenyl ring and charge transfer from arsenic lone pair
1 « tothe ring respectively.

Charge transfer from arsenic lone pair to the ring and n-n* transition of the
> % phenyl ring respectively.

- w» Both are charge transfer transitions from arsenic lone pair to the ring.

4 % DBoth are m-7* transitions of the phenvl ring.
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Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

In a reductive elimination reaction the two groups,/atoms being eliminated must

bhe -
Options:

1 % Essentially same and Cis- to each other
> « Mav not be same but Cis- to each other
= % Essentially same and Trans- to each other

4 % Mav not be same but Trans- to each other
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Cesticon Label ;- Multiple Choice Question

The formula of bismuth(III) aqua complex 1s :
Options:

1 % Bi(H0)"
> % Bi(H0)3"
o 3+

4 v Bi(H0)5"
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Structures of Ni(CO), and Ni{CNf]EI_ are :
Options:

, » Both square planar

> % Both tetrahedral

= = Square planar and tetrahedral respectively

4 « Tetrahedral and square planar respectively
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Cuestion Label - Multiple Choice Question

Which of the following will not give a diol :

Options:
ag. KMnOy4, NapCO3
1 =
O . 0sO,

2 ¥ 2. H.O™

H,0*

) -

3%
4. v
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Juestion Label : Multiple Choice Question



What is the major product of the following reaction ?

5 H*/H,0
—_—

Options:

0
SOH
1 %

OH

> ‘

W

Dé
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Juestion Label - Multiple Choice Cuestion

What is the main product of the following reaction ?

H,50,,HgS0,
_}
H,0

HC=CH

Options:

O

VAR

o i’ HEC_CHE

. » H;C-CH,-OH



4 % HyC—CHj,
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Cuesticon Label : Multiple Choice Question

Cyclohexene on ozonolysis followed by treatment with Zn dust/ water gives
compound E, which on further treatment with aq. KOH vields product E. What is
product F ?

Options:

[:>—CHD
1 W

Q—GHD
o R

Do
COOH
4 % \__COOH
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Acidic hydrolysis of the following molecule will give rise to:

0O

Options:

1 # One molecule of carboxvlic acid and one molecule of alcohol.
> « One molecule of carboxvlic acid and one molecule of ketone.
= % Two molecules of carboxvlic acid.

4 % Two molecules of alcohol.
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Cuestion Label : Multiple Choice Question

In the 5,;2 reaction of iodide 1on with (CHj3)CHCH>CH>X, which of the
tollowing will have lowest reactivity ?

Options:

1 X — ‘::}H

- % X =0COCH;
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Question Label : Multiple Choice Question

Which of the following compounds would be suitable for preparing the
necessary diastereomeric salts in preparation of Naproxen ?

Options:

1 % Quinoline
- # Tartaric acid
=z % Malic acd

4 + Cinchonidine
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The correct sequence of the reagents employed to prepare Oformine (I) from
anthranilic acid should be :

GCGDH C(\Lﬂi >
§ =
NH, NH

Reagents Emploved : (i) Piperidine . (i1) SOCl2 (ii1) -l-Chlomp'-a.-'.ridhle
Options:

s (1), (i), (i1)
o % (iil), (i), (i)
3 v (iil), (i), (i)
4 % (1), (i), (i)
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Cuestion Label - Multiple Choice Cuestion

Which of the following is not the example of E;CB reaction ?
Options:

O  OH (1) MsCI

5 P —————
. A AL O e,

O OH OH®
A b, =T
2 ®
OH O OH
KOH

i P s, T
z % Ph Ph

FI + 0°

—_—
4.\4,/'1\\/\'\
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Cuestion Label : Multiple Choice Question

Alkene under high temperature and high-pressure forms :
Options:

1 % Alcohol
- % Polvalkyne
-  Polyvalkane

4 % Polvalkene
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Which compound is most basic ?
Options:

L
O

| H
4 % NI
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Which is the most probable main product of the following reaction ?

H Bro
DV, -
Options:

Br H
1 ® \©I\‘f)
H
Jou
z % Ar %

o

g‘\ :ZI I,j\\ ZT
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ouestion Label : Multiple Choice Question

Major product of the following reaction is :

(i) NOClthy
s
(i) H*
Options:
N
1. H ©O
NH;



=

NH
NH

Qp Qe
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Juestion Label - Multiple Choice GQuestion

Major product of the following reaction is :
F (i) PR Li
(X -
H (i) H,0
Options:

“o

1. %
OH
o W :
3 ®
4 ®

F

|““‘-.
Z~ph

o
Ph
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ouestion Label : Multiple Choice Question

Major product of the following reaction is :

KCN

-

MeOH-H.0, 25 C

o ® NC GH
OH
ﬁr\([
3 ® 0N
CN



